= =
.0 )
0000005300,
02009000090
2000000000,
2000009000
0002000 3
N E—

Driver's Side \Pcssenger‘s Side

M w@

Included Parts: Molle panel | Upper Mounting Brackets | Lower Mounting Bracket |
Driver's Side Hidden Mounting Bracket | Passenger's Side Hidden Mounting Bracket

Process Ref. No: 1951
Revision: 1.044 Revision date: 10/06/2025

Date: 17/09/2024
Page 10f 20

Feedback?

INSTALL DOC - 6G 4Runner Rear Window Molle A

Included Hardware: (3) 1/4-20 x 3/4" button head bolts | (5) 1/4-20 x1/2" button head
bolts | (4) m6 button head bolts | (5) 1/4-20 serrated flange nuts | (2) 10-24 x 3/4"
bolts | (1) logo plate

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Begin by removing the net hook by twisting it clockwise and pulling out to reveal the
bolt behind it.

Process Ref. No: 1951
Revision: 1.044 Revision date: 10/06/2025

Date: 17/09/2024
Page 2 of 20

Feedback?

(] ¥ g [m]

INSTALL DOC - 6G 4Runner Rear Window Molle :

Pull the tie down points near the hatch down and pry out on the plastic behind it to
reveal another bolt.

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/b9a916e24-8b6f4449bd41-1749152313?v=49
https://gembadocs.com/procedures/video/b9a916e24-8b6f4449bd41-1749152313?v=49
https://gembadocs.com/procedures/video/b9a916e24-8b6f4449bd41-1749152313?v=49&type=ok
https://gembadocs.com/procedures/video/b9a916e24-8b6f4449bd41-1749152313?v=49&type=ok
https://gembadocs.com/procedures/video/c23f11be-48bd44e48024-1749152314?v=49
https://gembadocs.com/procedures/video/c23f11be-48bd44e48024-1749152314?v=49
https://gembadocs.com/procedures/video/c23f11be-48bd44e48024-1749152314?v=49&type=ok
https://gembadocs.com/procedures/video/c23f11be-48bd44e48024-1749152314?v=49&type=ok

O “=\7=
J\c/a ryw

Insert a pry tool into the small slot above the plastic piece located in the cavity for the
cargo cover. Pry out on that piece to reveal another bolt.

Process Ref. No: 1951

Revision: 1.044 Revision date: 10/06/2025

INSTALL DOC - 6G 4Runner Rear Window Molle

7
Z
AL
i
e ‘ff;‘i!‘“‘" 3
-_f_‘f.z,.‘r
’:f'
Jﬁ-’ 7
T
warf

o
z
i
e
Brrs
S
:
4
T
L
477 ) o

TEE
LT

e,

K4 g
e
15
%
o,
i
»;‘

Remove the three bolts just uncovered using a 10mm socket

Date: 17/09/2024
Page 3 of 20

Feedback?

(] ¥ g [m]

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/9ec2122e0-a1f14127930c-1749152314?v=49
https://gembadocs.com/procedures/video/9ec2122e0-a1f14127930c-1749152314?v=49
https://gembadocs.com/procedures/video/9ec2122e0-a1f14127930c-1749152314?v=49&type=ok
https://gembadocs.com/procedures/video/9ec2122e0-a1f14127930c-1749152314?v=49&type=ok

Feedback?

(G =y INSTALL DOC - 6G 4Runner Rear Window Molle e

Pry up on the rear corner of the plastic trim piece running the width of the hatch. This  Ifinstalling a panel on the diver's side of the vehicle, remove the plastic panel from the
piece is held on by several plastic clips. With the clips detached, it must be twisted floor on that side. Pry up on the outer edge of it to pop the clips out. This panel also had
towards the front of the vehicle to remove the front flange from underneath the floor  aflange running underneath the floor of the cargo area.

of the cargo area.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 40f 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/a26a16ae4-8e9c44d1b43d-1749152315?v=49
https://gembadocs.com/procedures/video/a26a16ae4-8e9c44d1b43d-1749152315?v=49
https://gembadocs.com/procedures/video/a26a16ae4-8e9c44d1b43d-1749152315?v=49&type=ok
https://gembadocs.com/procedures/video/a26a16ae4-8e9c44d1b43d-1749152315?v=49&type=ok
https://gembadocs.com/procedures/video/ed6816be6-52e846d5b4ea-1749152315?v=49
https://gembadocs.com/procedures/video/ed6816be6-52e846d5b4ea-1749152315?v=49
https://gembadocs.com/procedures/video/ed6816be6-52e846d5b4ea-1749152315?v=49&type=ok
https://gembadocs.com/procedures/video/ed6816be6-52e846d5b4ea-1749152315?v=49&type=ok

Feedback?

Ok =y< INSTALL DOC - 6G 4Runner Rear Window Molle R

Pry up on the step inside of the rear door to pop the clips free and remove it from its Pry out on the rear, upper corner of the lower plastic panel to begin popping its clips
position. out of place. Do not pull to far at this time as there are wires that must be
disconnected.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 5 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/faf813397-aef14642996e-1749152316?v=49
https://gembadocs.com/procedures/video/faf813397-aef14642996e-1749152316?v=49
https://gembadocs.com/procedures/video/faf813397-aef14642996e-1749152316?v=49&type=ok
https://gembadocs.com/procedures/video/faf813397-aef14642996e-1749152316?v=49&type=ok
https://gembadocs.com/procedures/video/f1131886b-ee8a4cfd90b4-1749152316?v=49
https://gembadocs.com/procedures/video/f1131886b-ee8a4cfd90b4-1749152316?v=49
https://gembadocs.com/procedures/video/f1131886b-ee8a4cfd90b4-1749152316?v=49&type=ok
https://gembadocs.com/procedures/video/f1131886b-ee8a4cfd90b4-1749152316?v=49&type=ok

Begin moving up towards the front of the vehicle, prying out on the upper edge of the
panel along the way.

Process Ref. No: 1951
Revision: 1.044 Revision date: 10/06/2025

INSTALL DOC - 6G 4Runner Rear Window Molle

Date: 17/09/2024
Page 6 of 20

Feedback?

(] ¥ g [m]

Pry out on the upper, front corner of the panel to pop the final clips out of place.

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/733b14bd3-c5154e88b932-1749152317?v=49
https://gembadocs.com/procedures/video/733b14bd3-c5154e88b932-1749152317?v=49
https://gembadocs.com/procedures/video/733b14bd3-c5154e88b932-1749152317?v=49&type=ok
https://gembadocs.com/procedures/video/733b14bd3-c5154e88b932-1749152317?v=49&type=ok
https://gembadocs.com/procedures/video/36df188ca-105e40c7a62a-1749152318?v=49
https://gembadocs.com/procedures/video/36df188ca-105e40c7a62a-1749152318?v=49
https://gembadocs.com/procedures/video/36df188ca-105e40c7a62a-1749152318?v=49&type=ok
https://gembadocs.com/procedures/video/36df188ca-105e40c7a62a-1749152318?v=49&type=ok

Feedback?

ﬁ\jca =y INSTALL DOC - 6G 4Runner Rear Window Molle e

With the panel fully detached, disconnect the wires. Both side of the vehicle willhave a Pry out on the top corner of the seat belt retainer cap to expose the bolt beneath it.
wire connected to a light. To detach this, press in on the white tab in the small

rectangular cutout in the grey housing while pulling down on the wire connection. On

the passenger's side, there is another wire going to the outlet. To remove this, pinch

the bottom tab while pulling away from the panel.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 7 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/898317ba7-9a2a483182c1-1749498223?v=49
https://gembadocs.com/procedures/video/898317ba7-9a2a483182c1-1749498223?v=49
https://gembadocs.com/procedures/video/898317ba7-9a2a483182c1-1749498223?v=49&type=ok
https://gembadocs.com/procedures/video/898317ba7-9a2a483182c1-1749498223?v=49&type=ok

Feedback?

VS INSTALL DOC - 6G 4Runner Rear Window Molle e

&,
€% "
2

Use a 14mm socket to remove the seat belt retainer bolt. The lower panel can now be removed entirely. There is a flange running beneath the
cargo area floor so the panel must be rotated in while gently pulling the panel towards
the rear of the vehicle. This step is not necessary but gives more free access the panel
as well as the sheet metal behind it.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A

Revision: 1.044 Revision date: 10/06/2025 Page 8 0f 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/fff8124f9-00eb48b393d4-1749498580?v=49
https://gembadocs.com/procedures/video/fff8124f9-00eb48b393d4-1749498580?v=49
https://gembadocs.com/procedures/video/fff8124f9-00eb48b393d4-1749498580?v=49&type=ok
https://gembadocs.com/procedures/video/fff8124f9-00eb48b393d4-1749498580?v=49&type=ok

Feedback?

Ok =y< INSTALL DOC - 6G 4Runner Rear Window Molle

Pry out on the upper, rear corner of the rearmost plastic panel to remove it. Pry out on the bottom of the plastic surrounding the seat belt to remove it from the
larger panel.
Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A

Revision: 1.044 Revision date: 10/06/2025 Page 9 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/6c541d545-bb5e43c29ad1-1749498692?v=49
https://gembadocs.com/procedures/video/6c541d545-bb5e43c29ad1-1749498692?v=49
https://gembadocs.com/procedures/video/6c541d545-bb5e43c29ad1-1749498692?v=49&type=ok
https://gembadocs.com/procedures/video/6c541d545-bb5e43c29ad1-1749498692?v=49&type=ok
https://gembadocs.com/procedures/video/072513e58-abc242a08863-1749559215?v=49
https://gembadocs.com/procedures/video/072513e58-abc242a08863-1749559215?v=49
https://gembadocs.com/procedures/video/072513e58-abc242a08863-1749559215?v=49&type=ok
https://gembadocs.com/procedures/video/072513e58-abc242a08863-1749559215?v=49&type=ok

Feedback?

Oz Sy= INSTALL DOC - 6G 4Runner Rear Window Molle 3

Pry out on the upper, front corner of the panel to pop it out of place. It may be helpful to Pry down on the front or rear edge the trim located above the rear window. As the clips
pull out some of the trim in the door to allow for an easier time grabbing the edge of =~ come undone, move towards the next one and pull down again until it is fully

the panel. Once it is free, the seat belt and trim can be passed through the holeinthe ~ removed.

panel to get it out of the way entirely.

Cycle Time: N/A
Author: Colin G

Process Ref. No: 1951 Date: 17/09/2024
Revision: 1.044 Revision date: 10/06/2025 Page 10 of 20



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA
https://gembadocs.com/procedures/video/a14917b40-337a414694ba-1749559456?v=49
https://gembadocs.com/procedures/video/a14917b40-337a414694ba-1749559456?v=49
https://gembadocs.com/procedures/video/a14917b40-337a414694ba-1749559456?v=49&type=ok
https://gembadocs.com/procedures/video/a14917b40-337a414694ba-1749559456?v=49&type=ok
https://gembadocs.com/procedures/video/1afc1a4-269d46f5be84-1749559973?v=49
https://gembadocs.com/procedures/video/1afc1a4-269d46f5be84-1749559973?v=49
https://gembadocs.com/procedures/video/1afc1a4-269d46f5be84-1749559973?v=49&type=ok
https://gembadocs.com/procedures/video/1afc1a4-269d46f5be84-1749559973?v=49&type=ok

Feedback?

ﬁ\jca =y INSTALL DOC - 6G 4Runner Rear Window Molle e

Install the hidden mounting bracket using three m6 button head bolts. Roughly center Install the hidden mounting bracket using three m6 button head bolts. Roughly center

the front two bolts and tighten everything into place. This position may need to be the front two bolts and tighten everything into place. This position may need to be
adjusted later. Passenger's side shown above. Driver's side show in next step. adjusted later. Driver's side shown above. Passengers's side show in previous step.
Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A

Revision: 1.044 Revision date: 10/06/2025 Page 11 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

(G =y INSTALL DOC - 6G 4Runner Rear Window Molle e

Install the two upper mounting brackets using an m6 bolt in each. Adjust each bracket

Remove the eight ribs boxed in the image above. This can be done using a razor blade.
as far apart as they can go before tightening them into place. It can be helpful to set the Try to cut them as close to the panel as possible to ensure fitment over the hidden
outer edge of the brackets parallel to the widow frame to ensure they are positioned

bracket. At the same time, remove the plastic clip located in the other position boxed in
correctly. The holes in the panel mounting faces should be roughly 12" apart.

the image above.

Process Ref. No: 1951 Date: 17/09/2024

Revision: 1.044 Revision date: 10/06/2025 Page 120f 20

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?

Ok =y< INSTALL DOC - 6G 4Runner Rear Window Molle R

Measure the distance to each hole in the top face of the hidden bracket from the Pop the lower panel back into place and translate the previous measurement onto it.
window. Make sure the top edge of the panel is where it normally sits before measuring off of
the window in the same method used in the previous step.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 13 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?

J@a =y INSTALL DOC - 6G 4Runner Rear Window Molle = e ¥

27 At this time, check that the hidden bracket is nested inside of the plastic panel and
the top face of the bracket is parallel to the surface of the panel and touching or close
to touching it. If it is not, loosen and adjust the bracket before tightening it back down.

Pop the top edge of the plastic panel out and slightly thread the three longer 1/4" bolts
from the top. Push the plastic panel to meet the bolts and mark where they line up on
the plastic. The marks should be 3" away from the next.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 14 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?
“— —
bcr Sy=

Iz =y INSTALL DOC - 6G 4Runner Rear Window Molle s

R
- L YR

To double check the measurements, use a soft tape measure to measure from the

front corner of the window sill to the first mark as shown. The measurement should be
roughly 5".

With the lines marked on the plastic, drill the three intersections out to fit a 1/4" bolt.
Pop the plastic back into position to make sure the holes line up with the holes in the

hidden bracket.
Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 15 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?

(] ¥ g [m]

VL o INSTALL DOC - 6G 4Runner Rear Window Molle

Put the upper trim roughly into position over the mounting brackets and mark outside  Pull the trim back out and cut out a rectangle to fit around the upper brackets. The back

of the edges of each to indicated where to make a cut. edge of the cut can be on the first rib in from the edge. This can be done using a razor
blade.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A

Revision: 1.044 Revision date: 10/06/2025 Page 16 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?

e o INSTALL DOC - 6G 4Runner Rear Window Molle s

Pop the upper trim into place around the brackets to begin reassembling the interior. ~ Pop all plastic pieces back into place in the reverse order they were pulled out. Be sure
to plug in the wires that were disconnected during the disassembly at this time. Leave
any bolts removed out for now.

Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A
Revision: 1.044 Revision date: 10/06/2025 Page 17 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Install the lower mounting bracket into the hidden bracket, pinching the plastic
between the two, using the three longer 1/4 bolts. Position it so it is parallel to the
inner face of the plastic below it and tighten it into place. This may need to be adjusted
later.

Process Ref. No: 1951
Revision: 1.044 Revision date: 10/06/2025

INSTALL DOC - 6G 4Runner Rear Window Molle

Date: 17/09/2024
Page 18 of 20

Feedback?

(] ¥ g [m]

[ e— i

Hold the molle panel up the the mounting brackets and ensure that they are properly
positioned before tightening the molle into place using the five smaller 1/4" bolts and
nuts. If the panel s not sitting properly, adjust the mounting brackets prior to fully
installing the panel.

Cycle Time: N/A
Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Ock
Vv

= INSTALL DOC - 6G 4Runner Rear Window Molle

With the molle panel installed, reinstall the bolts and any other of the vehicles
interior pieces that have not yet been reinstalled.

Process Ref. No: 1951
Revision: 1.044 Revision date: 10/06/2025

Feedback?

(] ¥ g [m]

To complete the install, mount the logo plate to the molle panel between it and the
window as shown. This can be done using the 10-24 bolts.

Date: 17/09/2024 Cycle Time: N/A
Page 19 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

Feedback?

Ok =y< INSTALL DOC - 6G 4Runner Rear Window Molle o
ks
Thank you for supporting
American-made. We hope you
enjoy your new product!
If you have any questions or concerns
please reach out to us.
info@jcroffroad.com
info@victory4x4.com
info@squatch-proof.com
info@fatamericanmfg.com
269-353-1184
“— sl
Uce "J"V:-'-" 2\ SQUATCH
ARG
Process Ref. No: 1951 Date: 17/09/2024 Cycle Time: N/A

Revision: 1.044 Revision date: 10/06/2025 Page 20 of 20 Author: Colin G



https://gembadocsapp.page.link/yoMv7ScYW5pfkAvLA

